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wsChapter 7.2, 7.3 Review
Matrices

Name

For 1-5, complete the matrix operation. If it is not possible, write “not possible”. No Calculator
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For 6-8, determine if the inverse of the matrix exists. If it does exist, find it! (#6 and #7 No Calculator, #8
Calculator OK)
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9. Explain in words how you would prove that two matrices are inverses of each other.

O Mudtiply e & matrices hgzw Jo see W Mhour
(\Dmdk;LC/Q’ s :[dﬁ)v\»\'i&i\j Moy, AR =BA =T 7

OR. o .
@ Pnd inverze o svwe wodvie o se¢ iof o LL[:MMS e sdhor
ot | AT =D7?

10. Explain in words what the “identity matrix™ is. i )
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For 11-13, solve the system of equations using matrices (Calculator OK). You must use each method at
least once (Inverses and Reduced Row Echelon Form).

X+y+z=
2x-3y=-10
11. 12. 2x-3y+z=-5
x+2y=16
3x+2y+4z=3
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14. Mrs. Billz has paper money in her wallet consisting of $1 bills, $5 bills, $10 bills, and $20 dollar bills. On
Friday she had 19 total bills in her wallet that adds up to $125. She also has one more $10 bill than the total
number of $5 bills. The number of $20 bills is equal to the number of $5 bills minus the number of $1 bills.

How many of each type of bill does she have?

.

X = #5f 1 bills x4—34—2+u@:\°‘1 ’
= l 1S 45
= ~ - oWMO/\(ﬁO“‘M"“’L s
- 20 bil z-l= : ,
w #‘0€$ s oo B KBQ :$ZOS:$55WHV\M5 $l;
(AO-\A += 4+0=
x-—g-\fO“’lD:O -
RREE L 1) 19 | 09 o 5 5 3/ bl
| 5102 25| =[o oo (| [ #5bis
o+ I o | 2 ol O 7 7 10 bills
Lo o o 0ol (| %20 0bils

15. The Gaussians Math team has made it to State! After they compete at State, they take home a total of 10
trophies (1%, 2™, and 3™ place finishes in each event earns the team a trophy). The number of 1* place trophies
is the same as the number of 2™ and 3™ place trophies combined. Also, the number of 1*' place trophies is one
less than twice the number of 2™ place trophies. How many 1%, 2" and 3™ place trophies do they take home?
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